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( A )1. Calculate the exact value of (379+379)x5007?
(A) 379000 (B) 397000 (C) 558000 (D) 548000
BEHT + 379X 2X500=379 % 1000=379000

( B )2. Adivisoris > of the dividend. We know the sum of the divisor and the
6

dividend is 165. What is the divisor? (A)66 (B) 75 (C)90 (D) 99

165
%@$ﬁ=165+(1+g)=90,90x§=75 I/ ' \:

WIS @@g

( B )3. Anauditorium(i®2) is divided into 2 areas, A and B. Area A has 32

seats, and area B has 28 seats. It is g occupied in area A and 2 in
area B today. What is the fraction of the capacity of the auditorium?
9 2 3 11
A) — B) — C) - D) —
(A) c6 (B) - (€) c (D) 12

BRA ¢ 32x 24 28x 221648224 » 24+ (32+28) =22 =2
8 7 60 5

( B )4 —@fﬂ)%’%ﬁsgﬂﬁ’E%E*ﬁi%?l%’azs%@ﬁ’%%Fcﬁﬁ%ﬁ%—#\ié

REZDYN N0l w5
1 1 1 1 A
(A) 155 (B) 165 (C) 185 (D) 195 NN

AT 8§x13+33=123+33=1652“ﬁ
5 "2 10 10 10 5
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)5. XBH 2 [BRBEEER EEFRILMAZE 540 7t B 3 AT # -
HWECE S 3EARN B 2570 XET—8EBKE 88607t X
B—HIEIT28® (A)250 (B)255 (C)315 (D) 320

540+3+25x3+60=3157%

)6. CEEZEBHHNEEERIDFIEN
(A) 150 (B) 200
(C) 300 (D) 400

DFAETE B LTINS \
OBRE LBEEBABIETH>=AK . 20
(320x20+2=200 °

) 7. =AFERA 9 FTIRAF IR » [UETEE
A 12 ETTRE > IR 24 IRTIR TR —1E
+EEALEE <
(A) /\FEitE (B) Nt
(C) +—A1tE (D) +_Atae

n AEAPERE=3Xn ..nx3=24 n=8

)8. EplcBENEs (B TK - RLK)  BIREIX \—/T
BISERZ A 20 <
(A) 605.5cm? (B) 706.5cm? l
(C) 804.5cm? (D) 506.5cm? L%%I

5x5%3.14+10x3.14x20=78.5+628=706.5cm?

)9. ERNAKMEELKAESTHHELLE S : 3° BREERES 4800 15+ - 8l
FRANEFHBZ DM
(A) 10800 (B) 11500 (C) 12000 (D) 12800 4
5:3=[]: 4800 * 4800+-3=1600
[1=1600x5=8000 > 8000+4800=12800 {4
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) 10. BEESENES R  RTEREN

WABESNABIRH - B TRIEAR 2004
it REMMLAIRIERAINE - BIF 149
BN T EEEREASDOAR 7 050 100 150 200(2R)

(A) 400 ~AR (B) 500 AR (C) 600 AR (D) 800 _R
BIRR=3x50=150 "R » EE=2x50=100 ~R
AR =(1504+100)x2=500 2R

) 11. TEERE 5 —SITTHIFH [NAF ) FHRIAITIRERMEZE 15 7T
28 AT RBRSDE? (A)55 (B)60 (C)65 (D) 70

= _ 75 o5
EE TS Ix (1- 1 2) =15 » [ ]=15+ 2> — 60
RELTTS A1 00) 100 >t

)ﬂlMﬁmmﬁEMEéiimAuH$ﬁ§%m%5ﬁﬁ’ﬁﬁﬁ%$$
%Eﬁg’m@ﬁﬁwﬁiﬁ%wk?

(A) 24 (B) 25 (C) 26 (D)28 A

3 3 3 2
160x—=x(1--)=160x—x—-=24
><8><( 5) X8X5 A

) 13. BRE—Z&MR 50 AREB—581 - EENSE 11 BERE B BRHEAT
20 D8 > (EERRPREDDNRE @
(A) 3.2 REB (B) 3.4 NEB (C) 3.6 NEE (D) 4 RE

50x(35—11)=1200 AR =1.2 A8 » 1.2+-20x60=3.6 &

) 14. B HEMBEEGSF  BABERGH 1 EEREH 2
CNIEH 3 > HRIEE 4 /)\IEH( 5 - BAREBIEL 6 I8
H 7> BIEE 8 [DRIKIEE 9 BAREIEH 10 BIE
11 -  IFE R —BE T » BIEEE 2005 65 -
SRR FIEE <
(A) K#HE (B) BfE (C) M (D) #E35
IMC BI85 8 aB8EyE TFEGE $3H 9K



3 4 5
7 6
10 11 12 13
17 16 15 14

BT K B © & /) @ 2005+8=250------5 ."./J\f§
2
8

(C )15 B2 KT KAEASIEZLE - AR

EmMASULEBELLE—IZ BEEEES,E (B 2| 1|4 |1

Be (RENR) -8R -JToae (B12]3]0]3

ZENl6  BIXBBERBES :
A4B508 (B)3IK1E @©C2228 O1B3E
BT BAKBE 45 5x4+2=1035 B - B S5 1015 °
SNBSS 2 10-2—1-4-1=215 B : 10—2-3-0-3=2 13

( D )16. Bl ASERCELWCEHEUR> E D C B, A
BTEMID C SIETRS  BARA-B- —28 —20 -1 -20 5

D - E LUEATRINENFAER a~ b~ d e BI NIIFCIISELE ©

(A) la|>]e] (B) b REH
(C) a—b= -7 (D) b ~ d BRERH

BEAT + a=5—(—11)=16 * b=(—2)—(~11)=9 °
d=(—20)—(-11)= -9 » e=(—28)—(—11)= —17

( A )17. WEEB - —EH 20 A KK BETHENAO 7y

FREE—1S » —BER B &R HFE{LHREIE

ZO LE—RBIEEBE TS 80GE BRI g

(—1) » BURE B 2505 » PTISHUEIERD < A
(A) —256 (B) 256 (C) —512 (D) 512
BRAT : 2x(=1)= =2 (—2)’=4 » 4x(=1)= —4 » (—4)’=16°
16x(—1)= —16 * (—16)°=256 * 256x(—1)= —256
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) 18. B—EERXOSHB/HRERE 10 "AR  NMIRB & - A=ERE
HRE - FREBPAEIESRILOSBHERE ©
B#E : 5x10 °m ZHME : 2.3x10°'m  FHE : 9.28x10 °m
A B BBERA (CIL-RA (D P& AEBIU

BB :5%x10 °m>10""m J 123%x100'm>10""m

B :9.28x10 m<10°m . .E(A)

) 19. WBR—BEIHE  SEELBRIE—BEEe > a8 @
HMBEFTRNEASTFEEE - & 20 ~ 49 ~ 14 ZHERDH hﬂ
HEHBH  IkKFERa b c’ Blatb+c=7
(A) 70 (B) 65 (C) 61 (D) 58
FRE—EIIBEN 2> H 20+a=49+b=14+c
b=2 2> 20+a=49+b=14+c=51
..a=31° ¢=37 ] a+b+c=70

) 20. W@ ° PP BE=ERNGX/]) B ik
AR BE— @i —EES @ 55

3| B | 4] & | 8] &
4 6

BELRRN—ERRBNENSY
w®| B2 ©RF (D) —#S
= 12x12

X

= 12%x12

4%x6

24x24

X

B:[(3:4]=12 > & 123K

S:l4-6]=12 > & =65k

:[6-8]=24 > & =125%

)21. IRENIER > BRE 23 IREEXRB <
(A) £13 (B) €23 (C) B33 (D) B 435
B85 2 % BURABIRR - BTLAMRESS 2 8
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( C )22 B—EERFEE  [IX  [ONAKRSSIER  IXHE—BEE 4571

BT -

BT -

BT -

fINRFIEEE » & 20 WSFFIXAEE—X - BN E—BEFEA
Me (A)25 (B) 30 (C) 36 (D) 40

idgisal
45-20=25
B Kox BIX20%0 90220 : 255 x=16
B 3220 B 3z225#0
.20+16=36
THB

) 23. ERE 200 ([BERBERN—(IESHE (—A—] > BUEENE)
EXE 6 EEA > iﬁ%ﬁ‘*i&)\?ﬁ%{%ﬂﬂ  BEAEDBE—Z -
EREASHREZERHEE IS MEMERITEBER <
(A) 62 (B) 63 (C) 64 (D) 65

TESES xR HEEEF

> x+24x+1+x+3+2+1<200 |BR| 1 | 2 | 3 | 4|5 |6

[===]
9XS63§’XEE§K=63 = X+2 | Xx+1 X 3 2 1

17 : (200-3—-2—1-1-2)+3= 63% S BZ63E

)24, T—REBBREAPE aBAEZEDBLIET B aBAEDB 28T
ﬁ aBAZEDBIET - » B a,BAZDEB n BT BABBEn
 BHENBIBRZDETT @
(A) a;+a,+az+ -+ +a, (B) a;+2a,+3az+ -+ - +na,
(C) arxaxagx -+ -+ Xa, (D) (14+243+ - - +n)Xxa,

1x(a;—a,)+2%(a,—as)+3(az—as)+4(as—as)+ -+ -+ +n(a, _;—ay)
=a;—ar+2a,—2az+3a;—3a,+4a,—4as+ - -+ +na, _1—ha,

=a;t+ataztas+ - --- +a,
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( B )25. A~B-C DUAFOXIIEE » INBERW TR o
AEIBE 700 C1E6090 KD 2ED - (BH—EE107)

aran Paray /5;%— Paran Paray /5;%— Paran Paran Paran Paran /]_J\
11213415 /6/7/|8) 9104
O o = O = O = O = O = O = A = I =
AlOIX|O I XIO|O|X|X|X|O]|T70
Bl OO I X | X | X|O]O|O]|X|X |70
C I X | X[ X]O|]O | X|O|X]O|X]|6e60
D O X | X|IO|]O| X | X]O|X|X]|?
(A) 50 (B) 60 7 (C) 70 (D) 80

i ABABBABH 78 2 A\GETEY 148 - EMANBERB 4 @18E » H
8500 6 BAE - 2E (BEARE) B 6 BDVARE 6 BIER  BILFIS (B
£18[8)) 84 EPH 8 BHIERR  BI=SRIER -

SUBAREERRE LR (O)  F48 (X)) E6mE (O) LB () -
£ C NBXRD LIITBAESHE S  HHES DA 60 JRNEMEMEETH S -
R EAER > DEHKHEE 12359108 HEHMR60-

||| B B B B B |FB|=HE 2
1/ 2|3| 4|5 |6/ 78] 9]10 .
T = = O = O = O = = O = A = R =
A O | X|O|I X|IO]O | X|IX|X]O]|T170
B | OO | X | X | X]|]O|O]O|X|X|170
C | X[ X[ X]|]OlO|X|]O|X|O]X]|es0
D O X | X|O]O|X|X]O|X|X| ? =607
FBI O I X | X | X]TO|]O]0O|X|X|X
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_ -5tEE (& 257)
1. HABRIE -
CINE 1 4 2 5 4 7

2 3 3 4 5 6

[B2] : 1x2x3—4=2 1 2x3x4-5=19 » 4x5x6—7=113-- --- &
1) HETI? 22D -

(12 1 BARAS 10 0 1B 2 B AE#ES 15 1)
7 2 5 10 9 2

2 4 8 2 4 10
(2) b LB SEBIEE -
(BD2%E+ - x - EBEERISEESE > 10)
BT+ (1) BEMRE  Tx2-4x2=6 5x8—2x10=20 * 9x4—10x2=16

BER1. (T-1)x2—-2-4=6 SR 2. T7+2-4+42-1=6
(5—1)x8—10—2=20 5+10—2+8—1=20
(9—1)x4—2-10=20 9+2-10+4—1=4

@ |5 4 7 5 10 7
23 43 ?
3 2 4 3 2 3

OX3+4x2=23 » 1x4+5x3=43 » 10x2+7x3=41
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2. BB B - CMBHR > PEIRLBA-B> A

C-~DUUE » IKRRZTBEB-4-0-3-7: —4
SIREBE-F G =% LR R 0~

SFTe—wlo

oW e—~NFg

v

E
14 ~ a» SiSMEHRINT—IE » BI%S E &2 A ¥ <5
7= F B C 7% » G £4 D 75 » Bl a T"RABVEARO <
BRHT : AC=3—(-4)=7 > EF=14-0=14 -
|BAC=EF » .~.z%ﬁ@%{ﬁﬁ%ﬂa%ﬁmﬁe@%%
AD=EG'’* X AD=7-(-4)=7+4=11"

E:ll+%:11x%:22 ' .G EiIBa=0+22=22.-- - =
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